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Which of the following places does not host IPL matches ?

(A) Mumbai (B) Dharamshala (C) Patna (D) Hyderabad
efRS @G B IPL (SN3f9e) (Homz SHve w23 2

(A) THR (B)  x<petretl (©) Ao (D) MR
TICHF (I ST IPL (SEfo19aT)-aF (4e7 S 2x 1 2

(A) TR (B) sl (©) o= (D) FwREw™
M o ST [PL (3TRYINa) 1 deeera-man S ?

(A) =i (B) ARSI (C) e (D) TEEER
frefafed & 9 ®F-91 T IPL (3TETue) H=i st Bt el i § 2

(A) T (B) e (C) we (D) T

Consider the five numbers given here :

@i 736 (i) 269 (iif) 958 (iv) 219 (v) 793

Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?

(A) 222 (B) 716 (C) 618 (D) 12

o2me 55 FRAN C2(T 8

G 736 (i) 269 (iii) 958 (iv) 219 (v) 793

ARSCHT I LT (25! TLeG+© ACEIAN 217 06 W<e FT FLANPEHI e 2L Wi f[F 29 2
(A) 222 (B) 716 (C) 618 (D) 12

G 27a #AfB0 AANE 7 ¢

G 736 i) 269 (iii) 958 (iv) 219 (v) 793
ATSTB TN SIHCE SIUITFC ANGT | 6 FR2 G2 A A W&y 2N ) 2@ 2
(A) 222 (B) 716 (C) 618 (D) 12

B HFe STHSTHRRE! S 8l
@) 736 (i) 269 (iii) 958 (iv) 219 V) 793

o o

A% AN fTaRRE! SRer™ wiiEre 9er | i 3T gefad SHNHIH TISie wReTfE

9 ?

(A) 222 (B) 716 ©) 618 (D) 12

@ 736 (i) 269 (iii) 958 (iv) 219 ) 793
A G % ki I Ted Y H FARd F | Tl 9% 3R Fod BIE H 1 3R 2 2
(A) 222 (B) 716 ©) 618 (D) 12
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3.  Identify the correct definition of verb.

(A) Naming words (B) Things description words
(C) Action words (D) Joining words
, 1+2v2+343
4.  Find the value of 1+ 2+6\/§—+4\/§
1 1 3
(&) 72 B 3 © 3 (D) g
1+2v2 433
4. 1+ Treliah M el 75 |
1 1 3
(A) ¢/ B) 35 © 3 (D) %
1+242+33
4. 1+2+6J§—+4\E @R S e 59 |
1 1 3
(&) 72 B 3 © 3 (D) g
1+2v2 433
4. 1+ ERRN NS 1 5m fegq1
1 1 3
(A) ¢/ B) 35 © 3 (D) %
1+2J2+33 .
4. 1+ TreiTah 1 HH 1 A
1 1 3
(A) ¢ B) 5 © 3 (D) %
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Which of the following is a part of Mahabharata ?
(A) Upanishads (B) Puranas (C) Vedas (D) Gita

S N e

TR (P! TSI G5! T 2

A) Tofm (B) =t Q) @™ (D) oot

—~

TR (NG TR ORCo DA 2

(A)  Toifram (B) el Q) @™ (D) oot
MR Fo HeIIRA( @il ?
(A) Ut (B) M (C) =7 (D) fim

frafafea § 9 -1 gerara o fes g 2
(A) 3ufTE (B) I (C) =7 (D) T

Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00 am (B) 8:30 am (€ 9:00 am (D) 9:30 am

75! 961 A =% B I A TBICH! @ifs 30 ff 5 = 03 =i B 9BIcH! @if 25 fifite 0@ @ Afe T 1 3f
TG 9512 6 am © GreTo! 1S T, (0% 9651 51 Grreteal e Tt fFF St ! 24 ¢

(A) 8:00 am (B) 8:30 am (€ 9:00 am (D) 9:30 am

% 91 A @32 B ISTSI G| 2 (@ 151 A @lfo 30 TS Alter @3k 261 B @ifs 25 Wi icer | 3 e
6 BT T 96! G2 AL AT(S UF F(H, O 7S | GFCANE! ASK AT 24T 8

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

A 3T B == @ SINERIE SR SR S A 31 Yaeh 30 TafHera Srsmen o1R1 B = o 25 fafea | gt
T T ' B 6 ReTara TS, oTeet o 5=l AT STRETE HIsel | SHSIRA ?

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

3 Hfedr A 3R B 39 YR oS Wt € foF 5 A g 30 fie W st § oIR S By 25 fie W
ot ¥ 1 At S st Yow 6 991 T Wi S IE &1 S, 1 STTel Tk Wi SISt 1 g9F 6

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am
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Mark the correct word as synonym of “affluent”.

(A) Meeting (B) Discussion (C) Wealthy (D) Poverty
Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France
RN (Ce] RSt <eT gl S 2

(A) TI% (B) Z&iES © g (D) =™
I (] e Qe ogel 6 2

(A) o (B) EeRICH (C) (D) =™
qUust TG o BIEW HEAR ?

(A) TH (B)  ESRII (©) (D) ¥
TS &L I A9 7 T w2 ?

(A) TR (B) FSRIEA © = (D) W
In which country was Christopher Columbus born ?

(A) Spain (B) England (C) Portugal (D) TItaly
(I (PeT® FIBPI FoTHIE Sl (2 2

(A) iz (B) e (C) =gallst (D) Zoifer
(PEBIR FTHRT (P (M0 SHZe P 2

(A) (B) WS (C)  CoMmgale (D) oo
fortd "R SheTrTEf M 816l Sey -

(A) = (B) I (C) e (D) seredt
fohEeI ehicierd oh1 ST fohd <¥1 H g3t o1 ?

(A) ¥H (B) e (©) A (D) g
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10.

10.

10.

10.

10.

72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :

(A) 6 (B) 7 © 8 (D) 9

G5! MeTS 2 (G 57T WSS 72 FAT Bz 09l 1 21 | 7ot elfoen) o791 wiore 2/« 5fzps eyl
VTS 2] [ T AT GO AN | WEACOIS A1 &1 [J A (202 2

(A) 6 (B) 7 © 8 D) 9

72 16 5fFF @aveT (2reTevd Seey Teael 341 = | weed Aot (2re, wee Al (R AT Basel B AN | e
(RCETCAE AN T4

(A) 6 (B) 7 ) 8 D) 9

~

T 71 BRI B 72 it T S | AIShIEsl 790 3T BT 9 71 R SHfSHia Ywe it
qHel | o =T 9reid T R SHH ?

(A) 6 B 7 < 8 (D) 9

T 9 H F AGH! I 72 ATRAT fodiia &1 71 Tug § YT TSH I ASH! hi G H ST ATRAT
foefi | T9g § Tl #t g@n §

(A) 6 B) 7 <© 8 (D) 9

11.

11.

11.

11.

11.

If cosb = %, then the value of sin® is :

5 12 12 13
(A 15 B) — © 33 D) 15
M cosh= —, (SCF sinf I 3+ ¢

5 12 12 13
(A 15 B) — © 33 D) 15

5 12 12 13
13 12

5 12 12 13
(A 15 B) — © 33 D) 15

A 15 ® - © 15 ®) 1
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12.

12.

12.

12.

12.

The product of the roots of the quadratic equation 2x>—5x+6=0 is :
(A) 2 B) 3 ©) 5 (D) 6

e ST 202 —5x +6=0 F TN (F2HIF 7TV (2R ¢
(A) 2 (B) 3 € 5 (D) 6

TRl ST 202 — 51 + 6= 0 G [EISTER worre] 257 2
(A) 2 (B) 3 ©) 5 (D) 6

2x2 —5x 4 6 =0 SR FAFAAEM USTHRIT ST
A) 2 (B) 3 < 5 (D) 6

fgemd TefieRor 242 —5x+6=0 % Heil Hl TG ¥ :
(A) 2 (B) 3 © 5 (D) 6

13.

13.

13.

13.

13.

Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?

(A) 8 (B) 12 (C) 14 (D) 10

QIR BTS2 ICeere A TfesT | ISR bifss e SATO1IRIFR @ W 577y, e e 2{iE
(TS (OEENRT B 99 W% 5ifFsjad ef oot @omis 2/ S Foie SIIST | JCSISIoe JI0O
SR 72l e wifes 2

(A) 8 (B) 12 (C) 14 (D) 10

G ITCSIS S A FARCE | ©1 5q @R 2@ IR BIF (ZF € OId G e Tt fageme @3
TSP (R G0 FC (0 9% 9f0 I (IR 57 | I0eite doe qfzel o 2

(A) 8 (B) 12 (C) 14 (D) 10

TS AR STHI AeER A St faerif frgmen s foemsist drmd fearfT a1 o fRemer em
forar 7 fafemr 3T ArRHe fTRaTeTeRi T 9 TR frarsi 9 el | o SeaR SiE ST 91
99 fe=TawR 4H ?

(A) 8 (B) 12 C) 14 (D) 10

Tt T Tuehfen o @ o @ o, e SRt sier 81 oy, ST 9R S 3R Skt ufert 3R ST T
o2 o1 T o AR 9 Afeal witer off | fewfen & feraet wfgemd off ?

(A) 8 (B) 12 (C) 14 (D) 10
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14.

14.

14.

14.

14.

A + B means A is to the North of B; A%B means A is to the East of B; A — B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?

(A) South - West  (B) North - East (C) North - West (D) South - East

I A+BI =L A (B B3I Teq e wiitg; A%BI 9Ll A, BI 979 ®itg; A—BI 9 A, B F sif*53re @iy,
(ST (o5 % ¥ + TR — JT0) © @G FACATE TUTIR (! e SRgH 1 2

(A)  wEFe-oiféox (B) Tess1 (C) TeR-7if*5w (D) wfEpel-sfa

M A+B M A T B 93 TEE; A%B W A T B @7 27 W& A—B W A 281 B @3 A6, ©=ga
(25 % *If + TTEIPT —J2oIfS) (© TSP FAGER AATH (@I s SRfFS 2

(A)  TfEFe-sifRew (B) T&-oK Q) Ter-oifeew (D) wfERe-o

e A+ BT aiforen - A =1 B 71 wm@ifel; A%B a1 - A a1 B A, A— B - A B AF@f, oteen
(TG % WUT + I — TSI 3T TICAT AGGA Sl ?
(A) Gie-dEefd (B) |- WS (C) HI-gHEfy (D) el - |AS

A A+BHR IS TR A BFSRAR, AYBF A TfHF A BF T AR A-BH A4 B fF A, B afd=m
HE @ (0= % 9 + 99 — ge9afd) § Fo=d & gy # Gy fong fam § 772
(A) Tfu-ufem (B) SW-T (C) SW-ufead (D) <f&U-gd

15.

15.

15.

15.

15.

At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 T FrRILE @51 (RNt ATRIE 100 TS fOoTe 2llE 91T 99 (202 45.5 | SR_rwere (w4l o'e (T @bt 9L
TEYGS 85 T 9120 Tl 58 o1 79I WY 41 (22| (HTHS Al TH99 wg T KFoiw (2=l Tfoe 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

G5 (HTH SITFHIT 50 T REFITR 9TC AFIE (CFIF) 100 9= &G 45.5 AT T | TR ! I @
G35 o1 AR T THCR, (T 85 TSI 58 FREIE 2t S AR (AT AfIS 91T Fo zem
The 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

1 50 HIFHMRRM 1@l AR HAAE T8 T 100 376 45.5 | AAh-mEme Aerdis @ik S
TRIfrerd 85 Wit 58 feRAT SIEl | ARG oI T3 1 |1 S 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 BT o Teh HeT W&o § hafl 1 3TEd ThR 100 H 9 45.5 U= 1| S HE R, T8 9= T4 R T
ToTd S2T-Ugl g5 off, 18T 85 1 TIeTdl ¥ 58 % ®9 H qof fohdll T o1 | W& hefl a1 BT e ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40
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16. The Padmanabhaswami Temple is in which city ?

(A) Bengaluru (B) Chennai (C©) Madurai (D) Thiruvananthapuram
16. (FINLT IS ATASH A SRZS 2

(A) (@RI (B) (bHiE (C) iR (D) fes=mEsTw
16. “ISFE AU (i =2 SKES 2

(A) I (B) (vaIZ (C) =R (D) fowames@s
16.  TRMIHREETHT A<l sfel R € 2

(A) STeE (B) == (C) g (D) fgar=rqm
16. SEFAIEETH! Ao ford e H § 2

(A) SR (B) =T (C) wgt (D) faweraq
17. Who played the title role in the 1969 version of Dr. Bezbaruah ?

(A) Nipon Goswami (B) Biju Phukan

(C) Dwipen Baruah (D) Brojen Baruah
17. ©° QG [@BTHRA 1969 AKHITS (HIC N Giere Sz T 2

(A) R o (B) gz

(C) @lol <=l (D) e =
17. ©° (QGRER 1969 FFA (F AL S #{eT SR 2

(A) 7= o (B) gz

(C) RItsw T (D) e I
17. 1969 TRAAM €. Iteedl G TEYgAE MR fewafid! 9r e ?

(A) T T (B) for Feh

(C) fgu =r%en (D) SIS a%a
17. <l %31 % 1969 G&R01 | ¥t yftrert fordq fa 2

(A) T T (B) ToIg Febe

(C) f&i e (D) oS =T
18. Fill in the blank.

January was the month last year.

(A) Cold (B) Colder (C) Coldest (D) Cool

Paper-IVIC 13
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19. The product of two binary numbers 101 and 10 expressed in binary numbers is :
(A) 1001 (B) 1010 (C) 1100 (D) 1110
19. ¥5! G Aot A 101 B 10 I 736161 @S AoleTTo 2 FIRCT 29 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110
19. 3 fafi 71201 101 @3k 10 9 @oFe fafild 721 iamfore o T el A7 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110
19. O SARTEHR M 101 SR 10 T FFeTerEEt swfsmm=i sHfsmmRE hReRs
(A) 1001 (B) 1010 (C) 1100 (D) 1110
19. <1 fgememd Hemsti 101 2R 10 =1 oHwe fgenurl demnsti § W& o forman < € -
(A) 1001 (B) 1010 (C) 1100 (D) 1110
20. Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji
(C) Papua New Guinea (D) Solomon Island
20. =R @G SIGRE JSRT 94 ISy 2
(A) =TWIR (B) i
(C) Aol WeH (D) T B1%17)g
20. T4 @G NN gEAET @ qrey 2
(A) Few B) fofe
(C) =iiofl WS i (D) GG &7E
20. TEM e STHRER ST BIei JiE TS 2
(A) =ER (B) TS
(C) urgen = firfq (D) ¥W'a'"F fqIwR
20. Frafafea & 4 SH-91 999 TF SHRH F1 T T § 2

(A) TR (B) Tmsit
(C) TrgeT =g firt (D) HEwA g
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21.

21.

21.

21.

21.

The sum of the roots of the quadratic equation 2x>—5x+3=0 is :

5
(a) 2 ® 5 © 5 (D) 5

f29® TR 202 — 5y +3 =0 F AN (FLHR JJ (T (20Z ¢

3 5
(A) 2 (B) 3 © 3 (D) 5
RS ATl 202 — 5x +3 =0 G (R ANG 2 ¢

3 5
(A) 2 (B) 3 © 3 (D) 5
2x2 —5x +3 =0 ST FAEAEN ASTHRM AT

3 5
(A) 2 (B) 5 © 5 (D) 5

fgema |HieRTo 262 —5x +3 =0 % Tl 1 AT :

@) 2 ® > © = D)

22.

22.

22.

22.

22.

If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

M SATURN & TZUTSM f25It3 T8 351 23, (O 7# (T URANUS F (AW T T 2] ?
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

I SATURN & TZUTSM RP1E FFNoe 1 2, OIRE @2 771 URANUS (3 SR A ge
AR ?
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

e SATURN 1 #e@l TZUTSM @I, fsell URANUS 1 se@l ore Wieimie 2
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

IfC SATURN &I TZUTSM % &9 | whifeq foran T 8, @ 36t A1 & 3TT8R URANUS &1 oy whifed
ERISIUIY
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT
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23.  Which of the following is an award exclusively for music industry ?

(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards
23. RIS @R R4 TR O SIgo Il J61 2

(A) FIF (B) «fil «arey (C) I Ak (D) (¥ @qoy
23. I3 (@ RERSIE e RER G 2TF9 2

(A) =R (B) @i 7=IT Q) T (2l (D) aifs 7r=I"
23. TR el S S-S SIfHsie’ W & 2

(A) IT=RRE (B) Ty warew (C) TS T (D) UfH warEw
23. frafafad # @ HH-91 [REhR fosie &9 9 Hiiia sam & fag 82

(A) &R (B) THI qTE@HR (C) TieeH el (D) I TR
24. Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France
24, FRERS @A @ QAN o T 2

(A) =z (B) =gl (C) (oI (D) T
24. TIHA (@A (MHE SRR oK FE a2

(A) =z (B)  coArgeltet (C) (oI (D) T
24, ISR AR <refen 99 el AlATST 2

(A) E (B) g (C) eI (D) WFE
24, AR ffafad § § /e <9 &I T8 a1 7 2

(A) &1 (B) e (©) e (D)
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2
16% of M is :

25.
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
25. (16+16)° 46y qupm s
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
25. (16 +16) g6 2 5
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
25. (16 +16)° £ 169, ) g -
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
25. (16 +16)° o160 mum & -
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
26. Which of the following is NOT an Assamese novel ?
(A) Adha Lekha Dostabez (B) Deu Langkhui
(C) Xekh Pristha (D) Ontorip
26. fIRfERS (PG @F SRR TN T2 2
(A)  SHIETR] TR (B) (08 FRYE
Q) ol (D) =TI
26. <IA (I ST G2 77 2
(A) S @ MBIES (B) (MG FRYZ
(C) 1T (D) wrEd
26. TR Sfell STEHA e A 7T ?
(A) =T feren et (B) <o igs
(C) &H g™ (D) ARy
26. frAfafed § 4 FF-a1 smfa IT=mg & € 2
(A) 3T e TEIES (B) <SAITEE
(C) 39 g (D) sfadd
Paper-IVIC 17 P.T.O.



27. How many times has Brazil won the Football World Cup ?

(A) Three (B) Five (C) Four (D) Seven
27. RIs Fo3& (Lere JIfSe [esllie A9 SeTe SRR 2

(A) el (B) ~Ifvar (C) v (D) AredR
27. 3ife™ TR FoeR Redis! fecers 2

(A) fea (B) (©) °dH (D) =
27. SISl SgHHT Feal HIaE THEY ST BRal ?

(A) &1 9™ (B) &AM Q) T (D) = f&
27. SISt A Fedtel fava &9 fha ar S g 2

(a) (B) (© =R (D)
28. Who wrote Pride and Prejudice ?

(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe
28. 23T 9@ fagfor 4 @i e 2

(A) (oW SR (B) 3= Ffocere  (C)  wmane FR (D) wifefaa T
28. (T 23T 99 few)3 et 2

(A) T TG (B) IFARIFoeme (C) =Nl fFHe (D) wifei e
28. ZET U Pyled W WR o ?

(A) ST FERA (B) WRAN &eive  (C) oM frfe (D) wRfSIf 3e®
28. FIE€ TS Yyfed oy feran ?

(A) S SERA (B) URANI ®ie  (C) wmen et (D) ST 9e®
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29. Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax
(C) Goods and Services Tax (D) Capital Gains Tax
29. RIS (WG Oes /€ F99 95 Trizel ?
(A) THRRITHF (B) SRS
Q) AT =R Rl 79 (D) S[ETKI STre] B9
29. IO (PG SRCSH AT F(EE SHIZA 2
(A) ToREFE (B) SR
(C) #lo € ORI (D) &1 311 1
29. TEEM ToE HRAM GHTer Qe fafeAfy ?
(A) <H @S (B) 1™ @ISl
(C) Ha AR AT @IS (D)  gferet AT WISl
29. frefafed § § SF-91 YRT & STI HL H ST § ?
(A) STRR X (B) 2T
(C) o& TS Yl (D) YSfrTa oy
30. The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :
(A) 23 (B) 17 ) 31 (D) 11
30. 2 (39 PR 1 SIICR AR A9, 3 (3 25 SRS S 2 1] #1-1 Ik 4 (3 [ SR ©9I0IF 3 AK #(1
TR PJeroxl FOIRT TR (2= ¢
(A) 23 (B) 17 (C) 31 (D) 11
30. SRR TR 7Yl ACE 2 AR Ol FCET T[T 1 ACF, 3 AR Ol FACET T[T 2 2AF G3R 4 7 ol
T SRS 3 A (A 25 2
(A) 23 (B) 17 C) 31 (D) 11
30. gEfed i o Sl 2 S Tee 1 THaEral o/, 3 i e 2 TaEral orl 3T 4 Si eeel 3
TGS o=, o SNSRI SHe
(A) 23 (B) 17 (C) 31 (D) 11
30. o8 =AqH Uihfae e 5 2 9 fawifs o W 9uwd 1, 3 9 fawifsa e ) 9uwd 2 3R 4 9 fawifsa

T T ITHA 3 I BT §, TR
(A) 23 (B) 17 (C) 31 (D) 11
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31. Which of the following is incorrectly matched ?
(A) Class Ilever : Pliers (B) Class Il lever : Nail cutter
(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener

S N e

31. WRERS @WE Segeld @[l e taee 2
(A) =% (T forem ¢ g (B) &S (T fore™ ¢ 74 61 Tow
Q) TOX (XN FTelq ¢ AW ©el To (D) R (HTH forem ¢ I5e AT (A Tom

31. TIA (AT SeFeE (e 2
(A) 2w (@7 forem ¢ foufb (gired) (B) TS (udw forom ¢ 714 FHR T2
(C) TR (IR feTo ¢ wife (A @HE) (D) f@or (TR el ¢ @res (A I8

31, TRAMN S 4R S A ?
(A) gmE 1 fifa : e (B) em@ 11 fifa : ST e Sy
(C) g 111 i : T s Hiame (D) 9@l 11 féfia : sreret e

31. fr=fafed & 4 $H-91 Tea gafed &2
(A) FH I R : e (B) &I II &leR : 7& shed

(C) = III fer : TEsharl (D) A I e : slidel 3T

32. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?
(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis

32. (PERE (4eTS IWIfers 91 (T2el) o fqva vaRiE s afsifig SR 2
(A)  @CHroY (B) SHRE (C) TizcRIe! (D) (5 (Bl

o

32. (T T=ERl (GRSl W3R favR gl (i (4 SRR eifsiiag FEfee e ¢
(A) TG (B) efere (C) SRR (D) (Bt (B

32. WA a%al (Fedr) R Ffea gormen e AeReeHEa! STt S Ter ?
(A) dsfa=ed (B) wfctera (C) {1 Fars’ (D) dfea afr|

32, HrIfern sweT (Fean) SR fafca ger 7 forg @a # emw =1 wfafqfie foran 2
(A) defieq (B) afchalra (C) <EEEel (D) <oa fa
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33.  Which of the following is different from the rest ?

(A) Samaveda (B) Rigveda (©) Yajurveda (D) Ayurveda
33. WRFIRC (RO SRS 92T 2

(A) AN (B) W (C) =g (D) SIgem
33. IR (IR SRR (AT 72 2

(A) AN (B) atam (C) =g (D) SIgem
33. TRMEM o AFAHAT TEARRHRE S&T ?

(A) HHEER (B) T (C) =T (D) 3gsg
33. frfafed § § S afwal @ f 872

(A) TR (B) (© = (D) ST
34. A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total

34.

34.

34.

34.

discount of X x after which he pays I 156. The cost per item after the discount is :
(A) %13 (B) 12 (C) R 16 (D) X 14

GG MR T 1 TS x FRAF AN GF FIRCH | ARG (0€F JJ T x AR ({22 Wi F99 AZS (08
% 156 20y SR | ({2 2WieE 2igs AfSCE! AT FEEn (202 ¢

(A) %13 (B) %12 (C) %16 (D) %14

GG GG x 7L AT T x W@ G @ | WFE OICE (N6 T 1 WS (ST 217 (7 T 156 2AG0NY 6 |
QA +7 =fofb AT e 2 ¢

(A) %13 (B) %12 (C) %16 (D) %14

Y AERE x ARG HASAE T x S8 M ol | REAE o] 519 % o T @ g 3 fodi 3156
T O | B BEHRIMA A6 JAY JaTi o8 oF ?

(A) %13 (B) %12 (C) %16 (D) %14

T Al T x Ufd 3TESH F W H x 3T5eH TS 81 THAER 3 FA T x i 2 <l ¢ S8k a8 98
% 156 1 A @ &1 T & IG U TEeH Hi AN © -

(A) %13 (B) %12 (C) %16 (D) %14

Paper-IVIC 21 P.T.O.



35. Who amongst the following has been awarded the Gyanpith Award in 2024 ?
(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) NilamaniPhukan
35. fRfie @H =FRF 2024 I TS 61 2w F91 T20R 2
(A) SR (B) SSAFNRWE  (C) oo {7 (D) (el el
35. f0% TrEfem@ e (& 2024 A @IS 2FTRIE Tl @0 2
(A) @SR (B) SRAFIRWE  (C) Fodl fRAM (D) <reTe Fa
35. 2024 AEUAMN FAUS Sl HR HEA! B Sl 2
(A) TSR (B) I FAR T (C) A feam (D) Tre'af e
35. frfafed § § fhd 2024 & JUS (R § G fohan T 2
(A) TSR (B) I FAR T (C) A feam (D) e Fehe
36. A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :
(A) 12 cm (B) 8cm (€) 15 cm (D) 10 cm
36. 24 (5 IPIGT GBI AT (SNETFS I I 8 ©lol T T B=: TN TCI9F 77 IF (9T SFFow
ST (ST BT | ool (AlITTRCEI TP 29 ¢
(A) 12 &f (B) 8 Gofi (C) 15 & (D) 10
36. 24 L. IPIER @3 47 iEwE 8 B T ©itel TR T W @R GFH TRENT (N I
SR 2| Tl ColIFTo AT 25 ¢
(A) 12 @I (B) 8 Gif. (C) 15 @i (D) 10 @I
36. 79 24 9.fA. W@ TH GG gETE! 1 8 WiIeTE SREEE SR | faf 9d wk safe 2R geR
HY S SR | S TIieH Sty 4 aret a9 ?
(A) 129fm (B) s4a.fu (C) 1549fu (D) 10 9.fA.
36. 24 9.7 1 a1 UH G1q o TG T 8 IR ThHS B I S § 3R Teh THS 1 el 6 &9 § firsrerrn

ST & 1 T e o e R
(A) 12 9. (B) 8 Q.. (C) 15 G (D) 10 &4
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37.

37.

37.

37.

37.

A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :

(A) Impeachment (B) Re-election
(C) Enforcement (D) Enactment

G R A S12@l BB S S (@I RfEFe (I Ao [KEiE opie Sipaes [eoa
T (Rl AT S SN2 2@ @i =8

(A)  wIfscaem (B) (5

(C) <R (D) e

G AEAST € T3 2fFw A9 i G0 TSN F7E A T AT 515w wiifEeas Semivaces
Tel) T AR AP e TBFS 98] S T OIS 904

(A)  wIfexom (B)  AeTefine

(C) IR (D) SRR

TSGR SR SR foranf-< st 9 GREn foamRRi SEm 99 STEE S Ta S8 SR
TSTHTE S SRAE " 31 M TG STSIE el 11 91 ?

(A) TS 3TS] (B) W@’ B

(C) SR W™ (D) AR el

T s 3R S Uishan feeh 511w faumd fiem o1 o= & €9 9 Tfea =manfeeso fordt
greisien SAfesit & fge® Heer & fau 3TY I +3dl 8, 98 el §

(A)  wRIER (B) AT
(C) Yadd (D) stfyfTaee

38.

38.

38.

38.

38.

Which of the following is NOT a non-metallic mineral ?
(A) Silica (B) Limestone (C) Bauxite (D) Dolomite

o o

e @I S-4red Afe o a8 2

(A) Bl (B) pefsre (C) <9MZo (D) T&MH
SIea (@R S-4red Wfae T 2

(A) Tl (B) pellefied (C) 3B (D) TCEINIZG
RS F& ] YIS @i oEE 7T ?

(A) Tafeen (B) A TR (C) wHdTE (D) TA'AEE

frefafea § 9 Si-91 T erenfas afts & €2
(A) Tgferent (B) T-9eer (C) dwiedrge (D) SRS
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39. Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?

(A) Pratidhwani (B) Krishnachura

(C) Barua’r Xonxaar (D) Agnisnan
39. SR *BIAR TANIA /97 FIEAT LTS (i Somiz @eni Wik (zz 2

(A) efeR (B) JHCI (C) /AR AR (D) ===
39. (ISP GEIO6at SR el *(ZH I TE7 TR SR [WNS 2

(A) afsRM (B) JHUI (C) IR AAR (D) ===
39. TRMEM o6l STHHA ey VoS Fefehat1 Hal /1 $7=aRyf7 §re faen @i ?

(A) wfdea (B) HOTEI (C) =% HER (D) ST
39. - g fhed weig Ty Afsran & ST S7a¥iy I i © ?

(A) faeafq (B) HOEEl (C) B3R HER (D) &M
40. Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau (D) Snow mountain
40. =GRS BT FNER OF Sniggel ?

(A) reet swgfi (B) famiz (C) reTgf (D) DIRS AR
40. =W Prnifos Twizael = ¢

(A) el el (B) f&RIZ (C) e (D) AR 2K
40. weREM faEm 9m 1 fafefer

(A) T ST BT (B) R Il (C) <A (D) S ISl
40. e ¥ T faafem 39 ST R

(A) =1 A (B) fTeag (C) ™R (D) WHid TaTS
41. Which of the following does saliva in our mouth help to breakdown ?

(A) Starch (B) Protein (C) Vitamins (D) Fat
41. IR YO 4 AFLE FHEARS @FH0R oo 727 I 2

(A) ¥R (B) SIPAR (C) e (D) &
41. A (S0 TS SR A A ARG FE 2

(A)  CeoR (B) canfos (C) el (D) ®F&
41. WA A GaSTa A& fawEHTETe SRS S ?

(A) HwEfe (B) ufed (C) fwarfmm (D) ¥
41. TR Ye H oR fr=fafea & 9 g foaee § ueg &t 82

(A) wHE (B) UM (S ERECIEE] (D) 9=
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42. Name the Mughal emperor whose army was defeated at the Battle of Saraighat.

(A) Aurangzeb (B) Shah Jahan (C) Babur (D) Humayun
42. *RIZA0I IF© AN I79 T4 (oI FHGGH (e 2

(A) SRR (B) bIZEE (C) 3RS (D) TG
42, *RIZIG I0a @ Mol A “AA1ers ZrafeeT o w15 96 |

(A) TSR (B) =enge (C) == (D) =
42, TEERM IEEEE BN THe G9el SREH ?

(&) s (B) M R (C) =R (D) TR

42. Y I HHIE 1 A FaeQ TR T IEEE & g5 H R T off ?
(A) ST (B) STl (C) @ (D) &

43. Identify the incorrect term in the series.
{5, 8, 13, 20, 31, 40, 53}
(A) 13 (B) 31 <G 20 (D) 40

43. {5, 8,13, 20, 31, 40, 53} *RLeTT WG 25! e T |
(A) 13 (B) 31 (C) 20 (D) 40

43. AMS TLF e I s e |
{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
43. THIRAE {5, 8, 13, 20, 31, 40, 53} AR AT~ foEE I=E’ |
(A) 13 (B) 31 C) 20 (D) 40
43. @ {5, 8, 13, 20, 31, 40, 53} H A U g |
(A) 13 (B) 31 (C) 20 (D) 40
44. The primary raw material used by the Assam Bio Refinery Private Limited is :
(A) Bamboo (B) Water Hyacinth
(C) Sugarcane waste (D) Banana plants
44. P (TR CHlIgAIAN 2Zes FRitee gage Al (@iNe 24 8
(A) 3z (B) A GICTI (C) IRTw@EA (D) TR
44. SPTS (SA C<IIAINR 2fETeh BIRGET @r Bl I iRk FHTIE 2 2
(A) A (B) pfasim (C) = ) (D) <= 9llg
44. a9’ RepEAR . fafgese deresmn fs et gamn -
(A) (B) Gferam (C) TR GH (D) enfer o
44, 99 9 R yeoe faties gR1 WM foran S aren mefhe e 91d ¢
(A) =i (B) STeisht (C) T 1 e (D) el & WY
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45.

45.

45.

45.

45.

Which of the following is best depicted by the diagram ?

(A) Cat, Fat, Rat (B) Food, Clothes, Friends

Assam, India, Asia (D) Geometry, Botany, Economics

o o

©
e 5z TRl @G Sdevrei bfge sRka 2

(A) GRS, e, 4 (B) W, %, I,
(C) P, e, Gfel (D) oiffs, Sfewfawm, wiefirg

2@ A Tod (TR SIS I FF 2

(A) i, It 2w (B) 4, T, 3F

(C) =P, O, @f¥il (D) ifsfs, Sfenfam, widmife
o G /i@l ey fefes ?

(A) HEfS, HIGHIHI, TSR (B) TSI, @M, TR

(C) 319, 9, Thea (D) Ay, A oM, Tt
fei T s f=fefad § 9 = eoia §2

(A) focet, Hie, =@ (B) WMI, HUE, T

(C) 3T9H, YR, TR (D) Safyfd, et foam, steemes
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46. Identify the water reflection of the given figure.

(A)

)
T

1

(B)

_ 7
—

46. v foaq o adfowew Hacs! e 5 |

N

(A)

K

(B)

_ 7
—

46. =2a BT T AT TG T4 |

>
T

_1

46. THME FEMRA SeTe RfrerE faame |

_ 7

(A)
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46. feuu a3 & S wfafsia =1 gg=mH |

© 1

[
1

—| o ! @ |

47. Identify the correctly spelt word.
(A) Conservation (B) Consarvation

(C) Conservetion (D) Conservasion

48. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2

1

417\ 5\
6 3
Married Trained Nurses
Population
(A) 2 (B) 4 < 3 (D) 7

48. e oaa (! TkHE 2frwar A “ifSTice [Raifze «fvifter afefifag s 2

i T
AAfamie
2
Y/ 7\ 5\
y 3
: s\gwg?maﬁw 2N s{fapif
(A) 2 (B) 4 < 3 (D) 7
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~

48. ove foq SEPIE (iR SIkHfG elf e oo st The [Rifze apfom afsffig s

REKISGERI]
2
b /1 7\ 5\
6 3
fifes Geicat effe of
(A) 2 (B) 4 © 3 (D) 7

48. HEMR Hd, ¢ WIS B M AT TrEhrE! fafrerm ?

R LIS RIES
JEHBR
2
b/ 7\ 5\
6 3
S I AT
s TEHBR
(A) 2 (B) 4 < 3 (D) 7

48. T3 3 @ & SATER, i @1 & foaanfed 79 =i gwiiar & f9& gf¥neror & ferw d=m <t =nfew ?

HEATA
u T
2
b/ 7\ 5\
6 3
- j yfrfera =&
(A) 2 (B) 4 < 3 (D) 7

Paper-IVIC 29 P.T.O.



49.

49.

49.

49.

49.

From the Constitution of which country, the concept of residual powers in the Constitution of

India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland

©IeIHT FRRLITS SRMT FAOIF QRN (FTe (I 2191 @1 0202 2
(A) (@@ (B) @l Q) T (D) LIS

TIRCSA TR SRS T 47N @ mead AR (A 49 391 202 2
(A) (@@ (B) @l Q) T (D) eSS

AT M Al YAt diafsee 91 o gedf d@fafaefwe o= e ?
(A)  SatsE™ (B) kTSI (C) WM (D) HEoReIve

IRA o Gfae o Tafire efvarsi ot staumon fhe <9 & wiaus 9 o T § 2
(A) s (B) HATEI (C) W™ (D) fEzsele

N

50.

50.

50.

What should correctly replace @ in the grid ?

13 | 450 | 30
21 @ 8
32 | 782 | 23

(A) 196 (B) 184 (C) 214 (D) 658
faoe o @ ! [z dfegivm 5T 2

13 450 30
21 @ 8
32 782 23

(A) 196 (B) 184 (C) 214 (D) 658

S @ FI (@ AfFeiE Afegifere g 2

13 450 30
21 @ 8
32 782 23

(A) 196 (B) 184 (C) 214 (D) 658
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50. @ @ TSi o GG g ?
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
50. fue# @ %! wél Tk § 1 Fger =feq ?
13 | 450 | 30
21 @ 8
32 | 782 | 23
(A) 196 (B) 184 (C) 214 (D) 658
51. Which two countries does the Gobi Desert touch ?
(A) Sudan and Egypt (B) Saudi Arabia and Iraq
(C) Turkmenistan and Uzbekistan (D) China and Mongolia
51. (I 7 O (ol SR e il sfacg 2
(A) RO o= Fed (B) (Rt I oIl B
(C) TIATN Wi TR (D) B =R sigeanfera
51. (oA Srgfl (in 9o omics il S
(A) i @R e (B) CTI =T @R 271
Q) TIEEN IR TERARFBI (D) bW @3 Sesifer
51. ' STl BRI 99 SIS HiAAE ACrS T
(A) HeH R free (B) ¥R TRE 3N 3k
(C) TehHITEIH A IS fREIH (D) = & Hafern
51. e HEEee fohe <1 <9 Bl B B 2
(A) Y IR = (B) Wal 3T 3R T
(C) Thuftem iR Iafeream™ (D) = iR Hiferan
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52. In which city is Dalal Street located ?
(A) Kolkata (B) Chennai (©) Hyderabad (D) Mumbai

52. WEE I (L TYT9TS SRFS 2
(A) Tl (B) (HiE (C) IEEm (D) ¥R

52.  WIEAE (25 (PN *I2(F SRFS ?
(A) <eTle (B) AR (€) =xaEm (D) TR

52. Tald f&ger @1 ?
(A) HeTehr (B) =g (©) THEgER (D) T3

52. Tl Wie fny vt | feed €2
(A) I (B) = (C) TR (D) ¥

53. Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s
shadow was seen towards the right of Rajiv. Which direction was Samir facing ?
(A) South (B) East (C) West (D) North

53. QR SRR 05 Piers AGIE AT 79l 218 $21 210 ACHCS AGIT T FReE @ T D!
INGRE CIIRIeT T S| IPE (@i 7S 4 9 iz 2
(A) wf= (B) = (C) =if<ow (D) Tes

53.  oloie FMCR AR AEN IR A (7] T T T, OL MG o5 a1 (F T R MG
T e (el o | AT (I e 32 R s 2
(A) Tl (B) =& (C) =if¥ow (D) T

53. U 9 AGRAE 3G i FERE! TRl HJH1 SR TFaead aFEE e 3991 e 9t arast
S et Tietel | | s Hial SreiHe ?
(A) Cret (B) WIS (C) WY (D) Hw=IfY

53. ol YARH % 3k d1% Tsid FHR § e oIk 9 o W@ 9, aff T |7 <@ foh a6k a6 WeE TS &

e AR fe@mE T @ ot | wHR o1 g@ fone faen & o ?
(A) <faqo (B) & (C) ufv=d (D) W
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54. (1% of 1)+ (2% of 2)+ (3% of 3)=?

(A) 0.06 (B) 0.6 (C) 041 (D) 0.14
54. (131%)+(232%)+(BI3%)=2
(A) 0.06 (B) 0.6 (C) 041 (D) 0.14
54. (1499 1%)+ (2499 2%)+ (3 94d 3%)="?
(A) 0.06 (B) 0.6 (C) 041 (D) 0.14
54. (1T1%)+Q2F™ 2% )+@ 3% )=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
54. (11 1%)+Q2 A 2% )+ B HR13% )=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
55. If % = % then the value of Zz t ;E is:
(A) 3 (B) 4 © 5 (D) 6
a 4 6a + 2b 3
55. ﬂﬁg—g,m@%_zbama
(A) 3 (B) 4 C) 5 (D) 6
a_4 6a + 2b .
55. MM = S WS - W ¢
(A) 3 (B) 4 < ) 5 (D) 6
a_4 6a + 2b
55. ‘gﬁ'g =g IR
(A) 3 (B) 4 © 5 (D) 6
a_4 6a + 2b )
55. AT L =3, W — €
(A) 3 (B) 4 < ) 5 (D) 6

56. Which of the following is a stringed musical instrument of Assam ?

(A) Dogor (B) Xutuli (€) Kaaliya (D) Tokari
56. WRRBIRS (S (202 SPTR IF O[S MG ?

(A) W (B) Tf (©) ifera (D) GRSt
56. SIHA (IR SRR G35 SRS AW 2

(A) TR (B) (©) ifera (D) GBIt

Paper-IVIC 33 P.T.O.



56. TR Soia STHH 119 TRIAA] SHIT ?
(A) TR (B) Edft (C) piferan (D) dhIR

56. fTAfARE § | %M A STHH T Th R SNd e s © 7
(A) TR (B) it (C) =it (D) <RI

57. A person borrows a sum of I 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :
(A) T 360 (B) 120 (C) T 480 (D) T 240

57. &% N2 IR 6% e 0 T 1,00,000 5 2 T2 AT R0 o1 N T2 6% b o 2 I A&
(72 41 Rl SR | G0 (TR 4 FC-S0T ARG IR 2NES T2 SISl 1 P #e] 2If et 20z 2
(A) T 360 (B) T 120 (C) T 480 (D) T 240

57. @3 & 2 5@ o AIF 6% T A6 I T 1,00,000 BRA 417 (7 @R (72 BIl 2 IR G AU 6%
TR baq i 7 R0 T | 97 72 A& D (e (METR #17 ATETod Sifers #1122 ¢
(A) T 360 (B) 120 (C) T 480 (D) T 240

57. SR AEREET SERIN 6% B IS g BFF SR 2 11 om@m@ 21,00,000 T SRR A SERIR 6% 8
TS He1'd SR 2 7 e U 98| SRR daFE T8 esi aniid RIfRAH o HHiaeT S et
ST ?
(A) T 360 (B) 120 (C) T 480 (D) T 240

57. U AfK 2 Tl o fAT 6% TS o FIEROT &A1 T X 1,00,000 Tt T SR el & SR 36 TR 6l 2 9
% foTT 6% wfqad & =shgfs = W a9 FLd ¥ 1 SUR ot TE T =S |fed diieH T SAfH i oty g
e
(A) T 360 (B) %120 (C) %480 (D) T 240

58. Which state is the official sponsor of Hockey team of India ?
(A) Punjab (B) Odisha (©) Haryana (D) Uttar Pradesh

58. (L AT SO TH! e B! FDCAITS 2
(A) ~AgR (B) Tf=m (C) =fzm (D) e aom

58. (I ST SRCSH 2fF VR IR FICARTE 2
(A) #ligR (B) sfexl (C) =RI=I (D) T el

58. XAl g'foh AT ARETR HSS BT TSIl 99 ?
(A) T (B) Sfe@n (C) = (D) ST g

58. RA I Tleh! AW 1 TR RIS HH-91 T3 § 2
(A) HSTS (B) swfemm (C) =ftamm (D) ST Y&
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59. Which State is the Dandiya Raas a popular folk dance of ?

(A) Rajasthan (B) Gujarat (C) Odisha (D) Maharashtra
59. WIS T (PN ST GF GRS (ETIFO) 2

(A) SreE (B) welG (C) S (D) “=HIE
59. TS AT (T A0 G0 SR (I 2

(A) SrerEl (B) waHld (©) efem (D) =g
59. <If+<an W 99 TISIH o HEH™ ?

(A) TSR (B) TSI (C) 3feH (D) #HENY
59. sifedn T4 fvd T57 F1 AT @ T § 2

(A) USRI (B) TSIC (C) sifeem (D) WY
60. The addition of two binary numbers 11 and 10, when represented in binary system is :

(A) 101 (B) 110 (C) 010 (D) 111
60. @O AT 1ol 7N 11 SR 10 I ([9F6 Bo 2eileTre b IR 2 AR ¢

(A) 101 (B) 110 (C) 010 (D) 111
60. 75 &S 1A 11 @R 10 @3 @oret B siafors e F90eT 2@ ¢

(A) 101 (B) 110 (C) 010 (D) 111
60. T FHANEMAR SR 11 3 10 1 SSTermEE! SHNHMAR STARHRE HRA |

(A) 101 (B) 110 (C) 010 (D) 111
60. < fgamemt Hemsti 11 3R 10 %1 A, 5o fgemard yomedt & gt s &, 6 g e

(A) 101 (B) 110 (C) 010 (D) 111
61. Kalbelia is a folk dance form of which region of India ?

(A) Kumaon region (B) Chota Nagpur region

(C©) Konkan region (D) Thar desert region
61. IR SO (I LT (SO hl 2

(A) T S (B) (RIGINII7F e

Q) &9l ST (D) < TG w=ea
61. TR SRICSH (P SLER GIFH (NP 2

(A) AR T (B) (R walsfg e
(C) T« S (D) <R SRPGf weea
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61. HIAATTATA RAM o AFHAN o HHMR ?
(A) FHRA AFEA (B) B ARTY A
(C) whepd TG (D) ¥R el BT SAEI
61. THITSTCTAT YRA o fhe & 1 TR H1 Tt T2
(A) FAE & (B) BT AT &
(C) hichUT & (D) ¥R fT™ &+
62. Which of the following countries is the farthest from Andaman and Nicobar Islands ?
(A) Myanmar (B) Indonesia (€) Vietnam (D) Malaysia
62. ST SIS (FRT FlA7IGT 2/ (@I (ita 71y K1 2
(A) Sy (B) Freiwfe () fowabam (D) STieTafez
62. TR (I (I SN @ FIPRE G1715)g (A TGE 1E 2
(A) ST (B) ECwiCarrl ©) T (D) SeTC
62. o B MM AN 7 "o feuwhR s SHfeemE ?
(A) HHER (B) s fH (C) foaa™ (D) WrAEREA
62. TrAfafEd § § HH-91 < sfeA 3R FRER g1 998 4 998 W 7?2
(A) THER GIEEIRIEE] (C) TorFa™ (D) At
63. A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min
63. 5! (5 6 T #1271 SRR 80 e o T Mif7 | (GfFCHI 8 e 11277 AR ool Ffcet fFww
MR TS TS 2
(A) 45 95 (B) 60 fIf (C) 48 i (D) 70 4G
63. 43 ~iq 6 T 71 @I ©AlG F=Co 80 FfFG 3@ &1iest | 8 6 a1 =i #{af =i S F© I3 &I 2
(A) 45 G (B) 60 WG (C) 48 WG (D) 70 WG
63. TRa HEE! T 6 Aifersit gamr 80 fafte @1 71 8 Aifersii 99 Mere arie ?
(A) 45 faf1e (B) 60 faf1e (C) 48 faf1e (D) 70 fafte
63. T ! ol 6 TEU R 80 TS H 1 S Whel © 1 8 WIEHI RI 2okl ol WA H Tohaa1 Woa ST 2
(A) 45 fAe (B) 60 fe (C) 48 fae (D) 70 fAe
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64.

64.

64.

Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the
LCM of A and B is three times the LCM of B and C, then the ratio C : A is :

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

G 71247 A, B % C GWE SNZ TS A 1< B T 5971 B =i C T 511 S A0 | I A =11k BF
AN B R C F o1 fof) @9 27 (o8 C: A 293
(A) 1:9 (B) 3:1 (€ 9:1 (D) 1:3

&G A2t A, B @3 C O (@ A @G3R B @7 5PAI%, B @38 C @3 917197 A | i A =% B @3 #11% B @3]
C @3 IR fomed 23 O @ Saiie C : A 2(J ¢
(A) 1:9 (B) 3:1 Q@ 9:1 (D) 1:3

64. A, B, C 3HfHmn siamafe &t A 3R B 71 ¢.emn. =1 B 3R C f7 <.oman. & 9um1 Jfc A s B f1
UL A B AR C 1 g 304 1 esmermem, stea C R A 17 w5 ¢
(A 1:9 (B) 3:1 <© 9:1 (D) 1:3
64. N @MU A, B 3R C UH € o A 31~ B o1 HedH HHTede, B 31~ C &1 HeaH FHYadh o 99H &1 Ife
A 3R B 1 @59 gumIac, B 2R C % @9aq gumIac 1 TR, @ STIa C: A ®
(A 1:9 (B) 3:1 < 9:1 (D) 1:3
65. If P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P,is:
(A) 23 (B) 33 (C) 37 (D) 31
65. MW 19 791 n (51 eI FRAAINT 5T A P, (BT S, (9CF Py +P,+P,+P, T e 3
(A) 23 (B) 33 (C) 37 (D) 31
65. M 1 (ACF n 27T FeIRT Ao o P, @l e 791 @ ©@ P, +P,+P,+P, 3 2
(A) 23 (B) 33 (C) 37 (D) 31
65. Sfg P, i Ao smfsmn 1 Fwm n faaf FrsrermEel s, sl P, + P, + Py + P, T 8
(A) 23 (B) 33 (C) 37 (D) 31
65. AP, ,1H n T I IHdew Tl 1 TOFE I U 8, @ P, + P, + P, + P, F T9F T :
(A) 23 (B) 33 (C) 37 (D) 31
66. The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne
66. (P PRI AR (A7 & (Wars of the Roses) o 7j2@ eI A<Hb© (2feet ?

(A) 3= Frzem (B) 6! PicarE
) afeE Prrew (D) itz Ficgrw
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66. (oI @ (Wars of the Roses) FIT 26 2z afel (@ PIREPIER &=y A0 20 ?

(A) &= Pz (B) TP Piiare
(C) =t Picae (D) C>if= Picare
66. T[RRI TeRT (Wars of the Roses) HfT & IEeMI odl TSITHEEAM A& S ?
(A)  Ffas TSIEEA (B) I USITEHRIEA
(C) fef TSifEREA (D) wf " USifEerEA
66. T % & (Wars of the Roses) &g STH Tl Teds fhd foemd & fag ae ™ 97?
(A) Tefew feemem (B) W fHemA
(C) wt fHemH (D) w1 foereA
67. Near which place, a statue of Jongal Balahu has been erected ?
(A) Raha (B) Dibrugarh (C) Dhuburi (D) Karimganj
67. (GleR e AfSE (P BT TS B9l F91 (2R ?
(4) @ (B) fealy © (D) =Rl
67. (SNeE To12d S[fS (I FIw 6 Blol 1 20 ?
(A) =” (B) fewre (©) e (D) wfmalg
67. ST 91 g THETE! 981 WHA Sa) ?
A) Ta& B) fegrs (C) HaR (D) T
67. ST SITg ot Tfd fohd T & Fehe Tonfua i 18 8 2
(A) @& (B) Teqmg © 938 (D) IS
68. Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?
(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D) Panaji
68. SNPIF 2023 T WIS JIGTZIM IR T (LFIT SH27 20T W (e Sifes 2
(A) RRIRS (B) 4<lel (C) ™S (D) ARG
68. THST QWT! (FIN SBfPeaT 2023 @7 T ASTEIN TR T o o7 2
(A) s> (B) sfifeTl (C) AT (D) AI=TET
68. S ST, 2023 HRAA IPL 1 Tome Tereem I¥eaf faemn s 2
(A) TERR (B)  ERH¥IeT (C) HoITeR (D) 9IS
68. STEUNTA 2023 % IRM, AT o ST TSTEH ATTH 1 5] HIM HIH-91 o1 ?
(A) TERR (B) eHwmen (C) HaITeR (D) 9rH
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69. Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region
(C) The Kutch area (D) The Deccan region

69. IS ST (i TS I AGTONME) (TS0 T AFST SfeeT ?
(A) TeIsReRe  (B) IS oIk (C) TR (D) wifEpeey Seea

69. TN SRCSA (I S AeH Feroifce™ (e erey fas ¢
(A) TeR-sfeme  (B) MR SIeE (C) o oE (D) wifEpeey Sees

69. TSN Afcraiied (Faausr) 1 FrEsieT sfoare YA a0 sidern ?
(A) H-UEST ¥RA  (B) HRER i€ (C) %o 3iHEid (D) SRk HE

69. ST Afciaifced (HeTdTE) sl THST YRA o fohd ad9M &5 § o1?
(A) AR 9Rd (B) hTHR & Q) F=3 & (D) <Rk &

70. Sagor Dekhisa, a collection of Assamese poems was written by :
(A) Devakanta Barua (B) Navakanta Barua
(C) Banikanta Kakati (D) Rajanikanta Bordoloi

70. 799 (FRIZ AN AR SRS ARAZ! (@I TR 2

(A)  (RIE I9A (B) TRIE 3=l

Q) AT T (D) TG PG ICA
70. ST (IR 9O SR FROR AT, oTCdre ¢

(A)  RPEIF (B) TRII® I

Q) ATIE IO (D) TS IS IS
70. EFR R A9 T faseE! IR foumE 2

(A) QSR el (B) I Al

(C) =R e fa (D) TSR SRS
70.  GIR Sfaar ek stafan sfaarsti w1 9 feas gru foran o ?

(A)  <eThid S&e (B)  Terhic &%

(C) SITtenRid ShTehdl (D) TSHIRId SRETeIS
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71. In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla
(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika
71. SN ARSTS (T “FH FR7 A Gaere 2
(A) Re™ vm 791 (B) SN bm S9N
(C) NI (CHIF (D) Rregfws Seem el
71.  SPRURI AlfRCS) (5 “wf SR e #{fbe 2
(A) a7 v 7 G ISR ACIRERIG
(C) SR (T T (D) Sifrereine S2rsm S
71. STEHA YAaeAE, 9R) el wia’! gei fhfusmn ?
(A) o< =g o5 (B) AT == ANTLETA
(C) HR=AY T Gk (D) HithSSiEA 3RS BTl 'R
71. e wifecd ® eaft wfa’’ % 9 9§ R S S g 2
(A) o =ig swen (B) Mg =g ATRATCH
(C) HRETIY Sl Foh (D) HIRSEM 3TEHT SSIiehT
72. A six-faced die is made in such a way that the sum of the dots on the opposite faces are always
equal. Which of the following pairs is not opposite facing pair of the die ?
q &P pp &P
(A) 1,4 (B) 2,5 © 1,6 (D) 3,4
72. &% AR sl wfbw Kz aemics it Tics 2ifs [Reidts 21751 e 370 cisieet smiw swiie | Fsfie
(I @R R sl ReiSe fHifde a1 2
(A) 1,4 (B) 2,5 Q) 1,6 (D) 3,4
72. @3 BT AR GSTSIE (O] T W A0S [T JASTARF [TMF (@I9Ie1 TR0 A 2| 5D &l
(STl 2 AR s vk ool 71 2
(A) 1,4 (B) 2,5 © 1,6 (D) 3,4
72. T W Al SEEE! Sieie SRR et fof Seen Arartht SRR SR el 96E | TRE
oo SRHAT o EEH 3ol S} Hil ST ?
(A) 1,4 (B) 2,5 Q) 1,6 (D) 3,4
72. e D¢ GG I 39 YR SR Sl ¢ fob faodia werent R feigaii o1 am ghen swer war ¢ 1 frefafea #

Y -1 Slrel 39 T w1 feradia Siren 7@t €2
(A) 1,4 (B) 2,5 C 1,6 (D) 3,4
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73. A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,
which is 4 km. The total path covered by the person in the entire journey is :
(A) (@w+2)km  (B) @m+4km (O (m+2) km (D) (2w+2) km

73. @G W02 P I 5[ Q (51 A el #i2 Sfe@s B 9% ©F foiwe 4 .1, O 23w #[t20d 771 P (1 g7
TR | NS SfoT 1 21249 9 07 (202 ¢
(A) @w+2 =R B e+ R (© @@=+2 B (D) (2w+2) .M.

73. 3% & G JLFEFA o1 P (AF Q I G SToeo Jeosl 212, ol 4 .50, SR I P-(o
CFCE | {1 @R S AIl Sro@=el T (15 712 287 ¢
(A) @r+2) &R B) Er+y R Q) @@+ RBR (D) @r+2) B

73. WY ARG QEEEHATR @ aFm P HwE Q fam ememeiet <R safrgs giaw arm, 4 fh.fa., i pfam
TREAT | o AT T Sy e 2
(A) @r+2)fefa. B @Er+4) e () @+2f®Mm (D) @r+2) o

73. UH AfK AdGAHR 9 H P Q T <1l § IR fF 7ol B 01t ¥ PR a9y o1t §, S 4 fop. ot €1 gt
e § =afad g1 a9 foman e ot TEA R
(A) @n+2) fw#H. B) QEr+4)fed. () @@+2)fEA. (D) @w+2) .

74. A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?
units is :
(A) 3 (B) 4 (C) b5 (D) 6w

74. 6 Gf PG GF & 791 30° (ol AR GBI Fede FI Threat g5 1 JeSBR Fawe Gk «vve
738
(A) 3 (B) 4w (C) b5 (D) 6w

74. 6 LA TPICER @3 O BIFS (ATF 30° (@R G I TN W | (FC6 (el JeFenifoa Fifar eifar.2
PP 26T &
(A) 3 (B) 4w (C) b5 (D) 6w

74. 6 9.0 W'EE TE AR SEAR R w300 @ A T AEY e 8 AR SR g S Sk
Shiferen 9.f.2 grfeare S
(A) 3w (B) 4w (©) 5w (D) 6m

74. 6 Q.M. 55 el U gARR femh @ 30° FIU H UH oGS el S § 1 Fe gU e w1 aewd

2 R A B
(A) 3w (B) 4w (C) 5w (D) 6m
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75. The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?

(A) 8 (B) 7 ) 9 (D) 10
75. (I 9 Bl RIS 91T Wi 9, =N 5 B9 51T i 10 DN (X7 “ADOR 91T T 8 | #{%6% A @=weiq Wi 5
wifes 2

(A) 8 (B) 7 Q) 9 (D) 10

75. 95 sRiaweed oo 7 9, 21945 5 B9 10 @32 5 B 8 | o2 »IA=aifs I fe 2
(A) 8 (B) 7 Q) 9 (D) 10

75. WM 9 THGARGRM T 9 : Faitad 5F 5 1 7T 10 AR MG 5F 5 T 81 &’ o A o9 ?
(A) 8 (B) 7 Q) 9 (D) 10

75. 9 3Teclehl k1 3IEd 9 o, Tgel 5 ki 31Ed 10 o 37 3ifad 5 o1 79d 8 o1 | Tiwal Tercileh o o ?
(A) 8 (B) 7 ) 9 (D) 10

76. The value of \/0.09 + \/1.69 is:

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
76.  J0.00 + 1.69 I W ¢

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
76.  J0.09 + /1.69 9% W 2

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
76.  J0.09 + 1.69 T HM:

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
76.  J0.09 + 1.69 1 TH :

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5

77. Which type of Democracy is presently being practised in India ?
(A) Direct Democracy (B) Representative Democracy
(©) Social Democracy (D) Totalitarian Democracy

77. IO OROE (FHRLS S17oF 2bfere ?

(A) =TT 50T (B) dfofagsers sl

(C) e e (D) SNl Aereg
77. TSN SRS (F G Ao 2lbfere 2

(A) =P 9o (B) feMiagyerss sloreg

(C) e sifog (D) SNl 9Aereg
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77. STfeRETeTe YA | QM gegant-o T JE1 2
(A) i gaEf (B) o< gowity
(C) HHIR ge@t« (D) Wl TR G-«
77. WA ¥ 90 H {6 YR 1 1o gafad 7 2
(A) Y& ks (B) fafdfy eehd=
(C) HHII dlhd (D) AfARIRaTEl Srshd
78. Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?
(A) India has won the Cup twice.
(B) Australia has won the maximum number of times.
(C) England won the Cup in the first tournament.
(D) Bangladesh has never won the Cup.
78. <N 77 orfvwz el fFs Tidn MxflEie @R U sy 2
(A) ORCS G2 F7 TR TS FECZ |
(B) SIEfmiE it a1 Tete SRz
(C) AL FACITS e A2 Flol Terre Fffee |
(D) JETTCH @B i (oS THere 11 T
78. AR SR € fCeE fFt Ruwiel 1o Tita (i ot s 2
(A) OIS @F G2 9l ferecz|
(B) SRRl W& A7 fecerz |
(C) e ALNAER oo ez |
(D) IRFACH FUTE TS I |
78. BEATHRMA ICC ODI fshehel JgHAT hId HiHe TR H o6 fagfean ar 7T ?
(A) YIRA FHIUEI G @HI T |
(B) referan a1 sAfRge Fifes @ T@E |
(C) fifafem TAf=Ta SoiT S@RI |
(D)  ScTSEN AISTETS STEH! S |
78. TS HLH. IEW UH fawia il fnhe fava % & dey # frfafead # ¥ SF-91 o ® 2

(A) 9RA A I IR FHY AT S |

(B) eieferen ¥ Hol SUGT IR S e i g |
(C) T b H Seie A Y S o |

(D) wiTerest A it 9 T e g

)
)
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79. For which sport was T. Ao the captain of Indian team ?

(A) Badminton (B) Hockey (C) Football (D) Volleyball
79. 5 ole @Ry (4T SRS woTq SR Sifes 2

(A) @IS (B) =™ (C) oI (D) SeTRe
79. 5. W€ @I (LT SIS 1T Mo NEITS e 2

(A) GG (B) == (C) T5= (D) Sfere
79. fo. oTaan ¢ IEEAEAEE TRAA B ST 1 ?

(A) defi=ed (B) B’ (C) Fead (D) 9 'feea
79. fe o= fha @@ & foaw yRda 39 & FaH 92

(A) Sefied (B) @kl (C) Teaid (D) afcftara
80. Toyota has its headquarters in :

(A) China (B) South Korea (C) Singapore (D) Japan
80. TS TIBR ¥y ST wRfZ® ¢

(A) BN (B) wfwd il (C) Toratio= (D) @il
80. (OICADR Ava 7T AR 3

(A) (B) w=re (iRl (C) PmrsE (D) o
80. <'I'qIfA RIS HEE a1 &7&T ?

(A) =M (B) Wl i (C) famgR (D) SIaH
80. Il 1 YA el Teerd ® :

(A) == (B)  <faur =ifan (C) famgR (D) S
81. Which country are Kira and Gho the national dress of ?

(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam
81. ISR (A (P (1T TSI AG-(ARF 2

(A) @Il (B) Tex (C) ©oN (D) fSwaBam
81. T @R (@I (&FIF MR SIS (AT 2

(A) @A (B) =cHlwl (C) OBl (D) ferred™
81. TR &R = o7 =7l TS BYSTR THE ?

(A) AU (B) wa'fea (C) 4ad (D) ™
81. T o =1 forg <o =it U UM ® 2

(A) U@ (B) harred (C) oA (D) fogam
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82. Which country did the martial art Taekwondo originate in ?

(A) Thailand (B) China (€) Korea (D) Vietnam
82. TIECIFIAICS! TN 7N TN BeoAS (@ e (&fee 2

(A)  2lEceTe (B) ©M Q) iz (D) BN
82. INEFE| ORCHWR Tesife @ e

(A) 2ZEe (B) M Q) if (D) fowrea™
82. TERMAIR Y AR 3T o6l U SIFEUIGIHIA ?

(A) oS (B) =M (C) i (D) ™
82. TFFIC! TS FHEhRC i cdid fhd <0 H g8 2

(A) oS (B) = (C) wif&n (D) foaa™
83. Which is the odd one out of the list ?

(A) Chapters (B) Preface (€) Index (D) Book
83. fiwem wiferie (FIve! wifse 2

(A) I (B) Mol (C) b1 (D) fFeiof
83. wiferpla (I s Al Kot 2

(A) =N (B) &= < e (D) ®
83. TS W@l A fog -

(A) @l (B) M ®RAM (C) =@l wk ) IREEIES
83. Tl H | &M 1 A T ?

(A) HAHAH (B) &IeAl (C)  STIhHTUTERI (D) Y&
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84. The three angles of a triangle are in the ratio of 1: 3 : 5. The largest angle of the triangle is :
(A) 70° (B) 90° (G 120° (D) 100°

84. bl fagsa ffbl @R M 1: 3 : 5 Sioiios =R fTgeHR JTeT (e T 2
(A) 70° (B) 90° (C) 120° (D) 100°

[

84. &M fagrem foalb (@I Sgaire 1:3: 51 fageioa Iz @b 21 ¢
(A) 70° (B) 90° (C) 120° (D) 100°

84. T - @ 'ATRRM TG 1:3 : 5 | A @R
(A) 70° (B) 90° Q) 120° (D) 100°

84. THTAYS F AN ®I1:3:5F 31U H B &1 YT 1 TIF S W T -
(A) 70° (B) 90° (C) 120° (D) 100°

85. Identify the pair which does not follow the common pattern.

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

85. TLNZOI BIH! SEPIRel 7 al (ARG oot 35 |
(A) 6:0XYGEN  (B) 5:ARGON (C) 7:CADMIUM (D) 8:BROMINE

85. (@ (ST AR T (G ) SFPTRe FE A oIS fHize 320 |
(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

85. ST SN EARRENE TE frTae arfar foe g’ ?
(A) 6:0XYGEN  (B) 5:ARGON (C) 7:CADMIUM (D) 8:BROMINE

85. U SIS i UgHM Y Sl AT Y ol T T il ¢ |
(A) 6:0XYGEN  (B) 5:ARGON (C) 7:CADMIUM (D) 8:BROMINE

86. Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by

people who are walking ” ?

(A) Pedestrian (B) Pediatrician
(C) Pollination (D) Postulation
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87.

87.

87.

87.

87.

Which of the following is correct ?
(A) Volcano cannot exist underwater.

B) Sea does not have any water current.

D) Land mass is almost half of earth’s surface.

[OEIGIRSE P ESRRaR RN

(A) SRR AR oot 38 A @RI |

(B) IS (FICA 490 AT Gif® TN |

(C) IR THSIR A’ 70% ©lal AIE SRR Sz
(D) 7JfRSR THARCI9T oI Sa s o TS |

R Taie @A wg 2

(A) R TG SRR A A1 1|
(B) T[CHA (I THACES (72 |

(C) T e == 70% @9t Tite 7l |
(D) <|fAS 2JFa =AW SEF Ferela |

MM se T o ?

(A) 31Tl drEresT § e o)

(B) TrefieT Sialt § SRR |

(C) T-HIf U™ 70% SRR < S e |
(D) T-Wr<IeT g-H|H I8 @Ed |

frefafed § 4 SH-T @& ® 2

(A) SIS I o 1S HiN[E TRl 1§ Hehdl |

(B) YR W g TTAURT el |

(C) YAt i T T AT 70% T THT T 9 T T |

(D) 4T G2all Sl TG o1 TN ST 8 |

(
(C) Almost 70% of earth surface is filled with water.
(D)
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88.

88.

88.

88.

88.

To which emperor was Chanakya the royal advisor ?
(A) Samudragupta (B) Ashoka

(C) Chandragupta Maurya (D) Skandagupta

DI (I SIS AFIGS ASH T SAWS Sifee 2

(A) I (B) wICx (C) vmaY G

DI (e AFIoF A GAWS! oot 2

(A) THusd (B) SN (C) vmeY G

TS o T TR e BT ?

(A) FHaT (B) M (C) == Bl

=T fohd TUTe & et GoeHhR & ?

(A) HHETD (B) T (C) sierwt e

(D)

(D)

BTRY

BTRY

89.

89.

Which of the following statements is correct ?

(A) Sikkim shares border with Assam.

(B)  Sikkim lies towards the west of Assam.

(C) Assam shares borders with Sikkim and Meghalaya.

(D) Bangladesh and Sikkim touch the borders of Assam.

S N e

RS (S T e 2
(A) o A SRE CTC® i e |
(B) Tofem worm #ifR5w e s |

(C)  SPTE STHIE fo s SR (TaIeTes ST o Fq |

(D) e SR i SpTs 3T o T |
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89. A (i RYfefb wam 2

i SPIR TIcEd S TmE |

SR IR I s/fFs |
s @I TSR A AR H NS AR

T @< TR SPTeeTd ST Az |

89. TRMAM Ja fosferam o ?

faforrmn stremmsT fam Tesart |
faforpan ST FiTerRT Trer |
sy faforr ST Hemerdsi fHHThI Tt |
e ST fafaeran sramf faamerE el |

89. fr=fafad el § 9 i1 War & ?

Taforn i € 3/ W 9 ot B
fafeery smam o ufyem o feoq B

19| k1 G fafara 3R oo™ 9 o ®)

sierey IR fafaerd st A 799 9 o el ®1

90. What would replace # in the sets ?

{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A)

8 B) 7 ©)

90. {5, 120, 3}, {9, 630, 5}, {9, 810, #}

AE[OOR # HTs [0 edfozion T[T 2

(A)
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90. ene WEfeulrs # Hzha ZE Fi afozifere == »

{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 B 7 © 6 (D) 4
90. {5,120, 3}, {9, 630, 5}, {9, 810, #} YIXHRIE # W AT GGl T ?

(A) 8 B 7 © 6 (D) 4
90. |I=A {5, 120, 3}, {9, 630, 5}, {9, 810, #} H # I T FAT T ?

(A) 8 B 7 © 6 (D) 4
91. A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :

(A) 36w cm? (B) 48w cm3 (C) 137w cm? (D) 24w cmd
91. 5l *I<3T ST TG 4 (.5l Ti% 20T Tl 9 (5.0, | *FCHT S0 (202 ¢

(A) 36w (5.:0.3 (B) 48w (G.f3 (C) 13w .3 (D) 247 B3
91. I =FI YRR 4 ELAL @32 Tl 9 G | =56 wies == ¢

(A) 36w (LW3 (B) 48w (M3 (C) 13w @LW3 (D) 247 GRS
91. T SergM TR W EmEr 4 9.f4. o Sitergan 9 4., 1 9 Serg IS s ?

(A) 36w 9.fa3 (B) 48w Q.fal (C) 13w @.fu3 (D) 24w Q.fA3
91. T P o MR it B2 4 A, IR =g 9 Al B1 ¥y o1 3T ©

(A) 36w QA3 (B) 48w Q.H.3 (C) 13w QA3 (D) 24w Q.HI3
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92. If sinf=cosb then the value of 1+ tan6 is :

(A) 1 (B) 2 © 0 (D) V2
92. MW sinf = cosh, (ST 1 + tand I W7 ¢

A) 1 (B) 2 < 0 (D) V2
92. T sinf=cosd = O 1+ tanh GF T 3

(A) 1 (B) 2 © 0 (D) V2
92. Jf sinf=cosd AT 1+ tand 1AM :

A 1 (B) 2 < 0 (D) V2
92. i sinf = cos0, W1+tand FAA T :

(A) 1 (B) 2 © 0 (D) V2
93. Identify the sport related to (Major) Dhyan Chand.

(A) Football (B) Wrestling (C) Boxing (D) Hockey
93. ((TSR) GGV PO GG® (LR ¥ el T |

(A)  Fo (B) == © IRTm (D) zf®
93. (TeA) QbIt 105 T=ifFe (4= bfers e |

(A) o (B) ¥ () Fogm (D)
93. (FSR) AMT<el 9l ARSI HHrGl M ?

(A) Fead (B) THAIHA (C) dreamE (D) T
93. (FSR) =M= 9 Gafyd @l sl 989 |

(A) Fesid (B) (C) gFhaIST (D) el
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94. Which of the following colours is NOT seen on the Olympic flag ?

(A) Green (B) Yellow (C) Orange (D) Black
94. SfeIf~oea SToIpIEeTS FIFfIRS (I <9 (Tl I 2

(A) CIEEgE (B) == (C) it (D)
94. IO (I (T SIfT[o[F ASRP (71 AW AT 2

(A) H& (B) = (©) =l (D) =lest
94, sffariusk fframmE o« e i@ ?

(A) i (B) TIHI TS (C) HHeT ™ (D) TG e
94. Trafafed 4 @ s-a1 1 sicifus ot § 78 fowa g2

(A) = (B) tem (C) (D) el
95. Which word would you replace for the underlined word to reverse the meaning of the

sentence ?

“Food in this hotel is worse than that provided at our hostel.”

(A) good (B) Dbetter (C) Dest (D) excellent
96. Who has won the highest number of gold medals in the Olympic Games ?

(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi
96.  (PIC SIS (25T D FRA (T 27 311© TR 2

(A) P P (B) WEF @R (C) (@R @R (D) el g
96. SIfeTi% Fel Aferafrer @ w AUF Fofome wle FAfRCew 2

(A) W Fore (B) ECH @ (C) (SN A (D) #icet
96. Afcifter STEEATEARETE | sEfel sifad |1 #ed § 2

(A) e fogest (B) HREhd heqd  (C) SIY e (D) Ty’ g
96. iU Wil H Helife ol uge fohe S © 2

(A) Tk foest (B) WIEhd oW (C) Sl A (D) Tl e

Paper-IVIC 52



97. A curved waterbody formed when a river changes its course to take a shorter path is known as :
(A) Archipelago (B) Isthmus
(C) Oxbow lake (D) Delta
97. at @A 55 A2l 770e 9ifS T FRC 90 (@A A5 IF TETSOIT @Il 2T 8
(A) @17 (B) e
(©) SmsIgn (D) I-@
97. &I TA1 Y OIF &7 2/RTEH T (RCH! AL R O (F IR AR 9/0® & O 0eA ¢
(A) @log (B) Qe
(©) SHERFfoFT (D) 3-&
97. U YA AT A1 T HieATSATES S SRedl e Tedi STl g1
(A) feu ger ten (B) @GS
(C) Trg Y feredr (D) «-feu
97. & HIE ol BT T AN & T 091 TR Seerdt § dl s el SJHIEER STerRITST bl el Sl § ¢
(A) €9 agE (B) TUASHEAL
(C) g it (D) e
98. Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket
98. fo1.F. TafR (FiRfy (weTe wignal TRl ¢
(A) QDR (B) CRITH (C) 5 (Bfm (D) feesb
98. o1.F. TN (S (4T (eI 2
(A)  SHILCEGH (B) I (C) @BfRe G (D) fecs
98. Tu.fq. Sumn w1 e 2
(A) Tifes™ (B) wsfh=ed (C) dfda afta (D) fehehe
98. .. IN T HH-W T G ?

(A) TIaIfesm (B) wefed (C) o | (D) fhehe
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99. Which of the following countries does not exist presently ?

(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland
99. ERIRS @ME omE TET TS TiwE AT ?

(A) pREINCETS (B) GFwiltsdT  (C) @i (D)  (olteTes
99. IS (A IG O ST (7 2

(A) IEERETe (B) GwdiCHelfd  (C) @i (D) (oAeTe
99. TR Sel BIGW ATfeehTeATel Tifeta ?

(A) YEEIRATE (B) Weh'wA'difeRAl  (C) ST (D) TeIe
99. frefafed § § wF-|1 <91 a09H § A 3 & © 2

(A) fasele (B) <ehRiEmiRaAl  (C)  STEAT (D) drie
100. Who amongst the following is a wrestler ?

(A) Baichung Bhutia (B) Lovlina Borgohain

(C) Sushil Kumar (D) Karnam Malleshwari
100. HMERS (@RARIF GF T 2

(A) RGOl (B) TSI <roia®

(C) P I (D) it STy
100. FRFRCWMR M2 (F GG FRBAR ?

(A) g gfow (B) eI AT

(©) T TR (D) Pl Tczpedt
100. TTETH HR W1 THATHI ?

(A) ==Y = (B) e T

(©) 9foe FAR (D) O Heerwad
100. frfafed & | S e €2

(A) =TEET ofe (B) ST SRATRTS

(C) Heite FAR (D) hUH Heeled
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o B[,
" \N729 144 81 )

N - o -3 oy -4
o 2 [B _
" \N729 144
N b2 o -3 oy - u
A) 15 B -5 © ~3 (D) ~ 3¢
w0 2 [B _
" N729 144
R o -2 o -3 o -4
A) ~ 15 B -5 © -3 D) ~ 3¢
o B [B [ _,
" \N729 144 81 )
R o -2 o -3 oy -1
ol B _[B_[E_,
" \N729 144 81 )
N N2 o -3 oy - u
A) — 1 B -5 © -3 (D) ~ 3¢
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102.

102.

102.

102.

102.

Which of the following mountain ranges is in Jammu and Kashmir region ?
(A) Pir Panjal range (B) Satpura range
(C) Dhauladhar range (D) Mishimi Hills

] SIS I S2eeT [GRERS (@FI! sifowe o 2

(A)  <TF g siFoxen (B) e~ sifewal
(C) (TR siFose (D) TR iR
TN (T oo &g @ TN Tete SRFS 2

(A) TR NG o (B) o7l A=
(C) (T siFerudft (D) s ote
ool gTei TafEn s TRl SRR ST ?

(A) TR v g faR (B) Hayx gr=h faRk
(C) emeR == fafk (D) fafafe s
frefefed § ¥ SF-5 T e S iR HeHR &9 1 €2
(A) IR 9T goit (B) wager At
(C) drasm goft (D) faferdt goft

103.

103.

103.

103.

103.

Simplify : \/51 + 134 + 5 42 + V16 + 49
(A) 15 (B) 12 C 8 (D) 16

WW?\/51+\/134+5\/42+\%+J§
(A) 15 (B) 12 © 8 (D) 16

W?'FW@"«%\/51+\/134+5J42+M+\/§
(A) 15 (B) 12 C) 8 (D) 16

\/51+\/134+5\/42+\/E+\@ @l TRe el :
(A) 15 B) 12 ©) 8 (D) 16

1\:*“\Ffaﬁt\/51+\/134+5\/42+\/E+\@
(A) 15 (B) 12 © 8 (D) 16
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104.

104.

104.

104.

104.

A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases

(C) Perimeter of the figure decreases (D) Area of the figure increases

@I 9 e Dae A (F FE G ANIGRIE @S W2| TNE@ GRS ARG 0
8 (5.1, w1 SR e 6 (5.5, 1 3 W (19T AT efSi 2 6. 3 3 e §ft @ e
2 (5.5 T g1 391 =7, (o8 WS (@ Ofe we 29 ¢

(A) AR CFawe g+ (B) foach™ «ifeTwl 3w =i
(C) Toarh =f=T 2™ =ik (D) AR Faws I 2]

@35 Tififes forg 12 (ool siwaE @ iR, TR AN (T FE | G0 (SR adfea w8 Gifi.
=R B (ST 6 P | T ol (wieR wfsiieE 2 @i e 3fds w2, vl (= (weR ¢weg 2 G
T T T, O Nvd (@ [grof 0o

(A)  Toram Fifet g+ (B) Toram #ffK I ~fica
(C) Tormm ~fifa gt it (D) Toraw sifet I i@

T TR Tekfaemag s)1 3 foi gieEem @'y @' =1 gFH SFd 'arl | S aEee =1 8 3.fh.
STRETE St 6 B.f1. | Jfe aafem ke 2 9./, wremerm s TR giee st 2 9.5, wgaE S,
7o ool Torgfor o ?

(A)  wHeUdTH Hiferdn @H Sefe (B) ERffS fommn arr et
(C) ERfIfE fommn @ Sreret (D) IfeTal IRE ATt
Teh SAIMHA SAThfd H THIER TEeT o & S 8N4 €, S THRI0 W Yd=9g ld & | T Siel i dars 8 JHt

%, IR gEd SIS &l TAE 6 T ¥ 1 AT TS TS T YAH H 2 T S Sl €, Sk DI WS i 2 YA FY
foren sitan ®, O frefafea & @ 9 W1 wea W& 82

(A) TR H FAFRA T2 S T | (B)  3Teh{d <1 TR Sgd B |

(C) i o1 qRETT e B | (D) 3TH{d &1 &AFHA ded & |
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105.

105.

105.

105.

105.

Who of the following is NOT a Lawn Tennis player ?
(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand

RIS @RS o7 Gz (4603 = 2

A) formeR o (B) e Srpesie

(C) Iz woifo (D) e (aNstie™
TR (G & (BT CHTARTG o1 2

(A) e o] (B) e orywsie

(C) Iz woifo (D) el canfomiw
TS B Hef oire W o qf s e T ?

(A) foa<r T9 (B) fosm @

(C) wew yu'fa (D) Yol Ty

frfafed § 9 =0 aF <f faore & €2

(A) foadet o9 (B) fas sga

(C) W&y qufd (D) i rdEg

106.

106.

106.

106.

106.

The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (©) 3cm (D) /3 cm

1 (5.1, IS GF T TS 27 291 Fiow Ffq 0L ¢
(A) 2 @ (B) 2 Gf (C) 3 ®h. (D) 3 &AL

1 (1.5 e /iR @l fFafire wmea e 3 23 ¢
(A) 2 @MW (B) 2 @R () 3 @il (D) /3 @R

o8 1 9.f9. & 71 s Trafas @ ' i
(A) 29 (B) 2 9.f (C) 39 (D) /3 9.

19,9, ot aret frafid == | 9ren S aren 9oy den foewt ©
(A) 29 (B) 2 W.HI. (C) 39 (D) /3 9.
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107.

107.

107.

107.

107.

The remainder when —46 is divided by 3 is :

A -2 B) -1 © 1 (D) 2
—46 3 3 (F [ R 2AY S9! (=R ¢

A -2 B) -1 © 1 (D) 2
—46 (F 3 7RI Sl T SRR A ¢

@A) -2 B) -1 © 1 (D) 2

—46 '@\}[ 3 Sl AT ATAHT N ECIES{ 1 I

(A) -2 B -1 © 1 (D) 2

o — 46 1 3 9 faufsa foran Sian €, 91 99%a © -
A) -2 B -1 © 1 (D) 2

108.

108.

108.

108.

108.

The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

(I 92 91T Sep1Ra! 2ifS T=T 10% I 2T Jfan A1 | T TOI S 10,000 TCH 3 IR TG0
LT I TR T ¢

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

G *2F TRl S T2 10% A I AR | *2@Ha IO Sepiel 7 10,000 27, OIRGE 3 IR oK
RESITEREM SR

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Y AR g arEiet SRk 10% g 9EE | Sfe enfammatt gs am@ist 10,000 27s sER 3 4

SSICRCEECIRS IR

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Teh Il i G & 91 10% 1 X 9 9t §1 A I o IaHE SHEEAT 10,000 €, O 3 99 o1
TG B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000
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109. Rearrange the following components to form a correct sentence.

(i) where no man had

(i) here we are strolling

(iii) ever set foot before

(iv) on the surface of the moon

(A) (@) - (i) - (i) - (@iv) (B) (i) - (iif) - () - (iv)
(©) (i) - @) - @) - (i) (D) (@) - (v) - (i) - (i)

110. Identify the proper noun in the following list.
(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean

111. Which Hindi poet is known for “Madhushala” and “Agneepath” ?
(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan
(C) Sumitranandan Pant (D) Maithili Sharan Gupt

111. FFRF! 0 TR Teeien” o “Sfeeg” AE SHee 2

(A) IS PR = (B) =<l i b
(C) @ % (D) CaIfeT! bael &g
111. (3 Bf% TR “STgeiiet” @3 “Sfaisies” & #ifibe 2
(A) TN PR Tweea (B) =< A2 A
(C) ARG (D) CaIfeeT! *Rel @Y
111. 4R fe<t Gremsffan  weemen’’ o stfgafa ! aram fafosm ?
(A) TR feTe (B) BE™ T o=
(C) Ha T 94 (D) Hferet wRor T
111. ®H-w1 & *fa aywmen’” iR ¢ sifiay’’ & fore S ST § 2
(A) YR TH7 foTe (B) ®Re® 1T =
(C) HfFareT wa (D) Hiferett SR T

112. “The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(C) With active help (D) In small pieces of paper
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113. The product of the mean and the median of the data set1,0, —5,3,0, —2,4,6, —4,1, 2is:
A = B — 0 2 D) —
113. ©alG 1,0, —5,3,0, =2, 4,6, —4,1, 2 91C = NG 2J0[2 2
A = B — 0 2 D) —
113. S AMFT RS 1,0, —5,3,0, —2,4, 6, —4, 1, 2 9 TF GIR T QO[T T
A = B — o = D) —
(A) 35 B) 13 © 3 D) 1
113. @RA™ 1,0, —5,3,0, —2,4, 6, —4, 1, 2 1 TSR TR TSRAMT AAESTERTR
A = B — o = D) —
(A) 35 B) 13 © 3 D) 1
113. €AV 1,0, —5,3,0, =2, 4,6, —4,1, 2 F A1eA IR WIfearsht T OFHA ¥ :
A = B — 0 2 D) —
114. Who or What is Doraemon ?
(A) A river in Brazil (B) A Hollywood actor
(C) A type of aircraft (D) A cartoon character
114. (SIE &=l @I 2
(A) alfeeR @<= Tl (B) @INIFI ZITT SISl
(C) R 9! == (D) &I 5 5fRg
114. (SIS (&3 F 2
(A)  aifeem «3f6 Tt (B) ZHTTT @7 wfeTel
Q) «F «FeR RN (D) =% FGa5f7g
114. SIEAT GX TS A1 ?
(A) sfSafT g (B) el wafefufii
(C) UEmH I (D) HFY FEA-31g
114. SEAFIA T A FATE?
(A) TSI &t Tep ol (B) T wichige STfama
(C) T YehR hl o (D) T hled A
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115. Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

Q) @ O (D)

115. WREARS @G Ba2 SR TR @T2F, HiFe 9k 75 o 7T Adres ol dfeiag s ¢

« (OO

115. =3 e A SR FANCE @135, M G2 TR oRM AN SIS SoIEoe T 2

« (OO
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115. &9 HEAME S 9e ferfTReR, BRIFRER R SEifiiera! qefay fefem ?

« (OO .

115. fr=fafga o 9 S 91 fo7 3R TS & oRgehi, foereni 3R Hiiiderrl o1 o 3TssT Yiaffee s & ?

(OO

116. On which island hillock is the Umananda Temple situated ?
(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal

[

DaTre Talaw W SRfFS ?

116. CFR Tara1of
(A) b (B) T=IDET (C) =I5 (D)o@

116. (P G e Tuem wfve sRfge
(A) 7B (B) T=IbET (C) =I5 (D) foamns

116. 3AM=< Hf<y o« fou g foremme g 2
(A)  vEHAEA (B) E=ETEA (C) Tretr=a O REEES!

116. 39Mg A forg weret gha w feoa €2
(A)  EHTEA (B) HeaTad (C) rar=a (D) femmr=E
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117. Which of the following is an Assamese jewellery item worn in the ears ?

(A) Golpata (B) Horinsokua  (C) Jonbiri (D) Thuriya
117. FRRIRS (@G (202 TS B @ ST a2l 2

(A) =Tl (B) ZReIF ©) comfF (D) g
117. A (A0 G SR SR A P #4912 8

(A) retrel (B) el ©) oM (D)
117. TR a6 STHfH1 TeArd! e T ?

(A) T (B) =RTEsa (©) Tt (D) gfen
117. TreAfafed # 9 HHE-91 HE H Tee1 S ae ST Sy ¢ ?

(A) TTeTHd (B) =RTEgen (©) Sirferd (D) gfen
118. Who has been honoured with Assam Baibhav in 2024 ?

118.

118.

118.

118.

(A) Ratan Tata (B) Ranjan Gogoi
(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary

2024 IS I TS (TS AW AW 91 1207 2

(A) o Bl (B) & aital

(C) Ol =Tl (D) e o< 2=
2024 I FICF SPT (Te IS Al Fl ZRCZ ?

(A) T Bl (B) & aital

(C) oo =zl (D) g oea PRl
2024 AEYMEM STHEM S99 G GRAT S6AE WG 2

(A) @A A (B) T=HATTE

(C) 9 Tefean (D) <[ ¥R qRer
2024 # T8\ S99 ¥ Y wEfaa feean T €2

(A) T < (B) {SH I

(C) T feran (D) S e qERR
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119. Which of the following is a collective noun for ships ?
(A) pack (B) herd (C) swarm (D) fleet

120. Who amongst the following has not won the Jnanpith Award ?

(A) Birendranath Dutta (B) Nilamani Phukan

(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami
120. FEGRS @F F_FIE @A I e 71 T2

(A) I T (B) TRl T

(C) 2= BB (D) SIS <F6S Cargsh
120. 0% TERSTR T G WA STHR A Tt 2

(A) T Te (B) sl T

(C) 2@ oGmR (D) SIS T (oS
120. TEREE B SR T FAUS S W ?

(A) forsTe s (B) Tra'af gerd

(C) & auieR (D) =t TTEm TEEE
120. fAfafed # @ fre A [ER @ ST 2

(A) g < (B) rem®for kA

(C) f&H vgrem (D) T o Treart

121. Which of the following travellers had visited Kamrupa Kingdom ?
(A) Fa Hien (B) Hiuen Tsang  (C) Al Biruni (D) Marco Polo

121. RS @F {5 “fRascE S ey awe s 2

(A)  wifew (B) 2Ttz bik (C) SIERAT (D) SF M
121. 8 TEie @ if@ies Fmel aiey s s 2

(A) w-ferw (B) feSE-le C) SF-EF (D) SR CotieeT
121. TEMETE BHME 96 ¥ ST hHEy JEsiete TEife haid ?

(A) e (B) feswa @i (C) 3T o%l (D) HTehi drell

121. frefafea & @ foa anh 3 Fmey amsg o1 )1 T on?
(A)  HRIH (B) & M (C) 3T o&Al (D) TR drell
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122. Who is the Director of the movie “Village Rockstars” ?
(A) Rima Das (B) Hima Das (C) Munin Das (D) Queen Das

122, “foreTe SRR AT @FBR 49 FoME @F 2

(A) 1w (B) fzsri v (C) S w (D) 337

122, “fSCeTe TG HeTMbLad 2GR (& 2
(A) &= v (B) fzsri v (C) = v (D) AU

122. *‘fiers heerd’’ g1 gyt SeAfifeEr 9r 2
(A) o™ (B) femiz™ (C) HfH <™ (D) %4 <M

122. ‘‘foeis Yereerd "’ e o Teweh H & 2
(A) w1 ™ (B) femiz™ (C) ¥ ™ (D) FsA TW

123. Identify the correct mirror image of the figure.

—

(A) (B) © (D)

123. 2 foaq W& witolle Afei=eo! oaie 7 |

(A) (B) ©) (D)
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123. one fHrag woiter Wi felis smre T |

123. AFAREE REAE st e 999’ .

123. 3TH{d & T2 40T Bf 9= |

—>
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124. As on 15t of January, 2024, who is the President of Ukraine ?
(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy

124. 1 SRRISY, 2024 AT 28(F29 Aol @i 2
(A) & e (B) wIfehE 7o Q) (oER e (D) SHRTeRR (S

124. 1 QRET, 2024 ACATH 28R Aol & farem 2
(A) el BT (B) wifE sffe  (C) N e (D)  weEimbE (e iz

124. 2024 FEEM 1 AR Eifafaq e Jeh gRRATRET 9REH ?

(A) S FRERA (B) wfsfR gfed  (C) iR SiegsA (D) ¥'a'fefR St
124. 1SHad, 2024 I Johe o TLIA HiF § ?
(A) S foeq (B) =AfGHR gfdm  (C) <ot S (D) SIclfefHR Sieient

125. Which Continents does the Mediterranean Sea lie between ?
(A) Asia and Europe (B) Europe and Africa
(C) North America and Africa (D) South America and Africa

125. (I = RS AErS gRLAR SHES 2
(A) @l o= ToCEio (B) TTGEI == Sl

(C) Tet ! S NIzl (D)  wfErel SCTfael s Sifp<sl

125. GO (IR 96 SRR 0L SRIZS 2
A) @RI @R T (B) T @ Wil

(
Q) T SCIRS @38 Sl (D) e SCafel =% Sifpsl

125. YESRATR otelst o HiF gegdTt e ?

(A) TEE R 3 (B) 39 R SAfhehT

(C) HI-3THfER & AR (D) Wre-3THiR AR e
125. A=A WER fofe ARl o o= feem €2

(A) TR SR 9 (B) 9 3R SHIH

(C) 3T THRERT AR STHTeHT (D) <feqor STARGRT SR STohieh
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Read the passage and answer the questions (126-128) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a

symbol is anything that carries a particular meaning recognised by the people who share culture. A

whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the

human capacity to create and manipulate symbols in the various ways a simple wink of the eye can

convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take

them for granted. Often, however, we gain a heightened sense of the importance of a symbol when

someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power

of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.

We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the

symbolic web of culture. Culture shock is both what travellers experience and what they inflict on

others by acting in ways that may offend them.

126. How is reality defined as in the passage ?
(A) meaning (B) action
(C) feeling (D) web
127. In the context of the topic of the passage, when do we feel lost, or frightened ?
(A) When we lose in a competition
(B) When we slip outside the symbolic web of culture
(C) When we cannot locate our action
(D) None of the above
128. In the context of the passage, which of the following does not serve as a symbol ?

(A) whistle (B) graffiti

(C) flashing red light (D) culture shock
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129. Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.

Where you (be)? —

I (be) to the dentist.

(A) have you had, I have been

(B) have you gone, I have been

(©) have you been, I've been

(D) went, I went

130. Choose the sentence that correctly communicates the meaning in the following sentence.

(A) Barua was usually able to catch the six thirty-five train from Guwahati

(B) Barua was usually able to catch a six thirty-five train from Guwahati

(C) Barua was usually able to catch on six thirty-five train from Guwahati

(D) Barua was usually able to latch the six thirty-five train from Guwahati

131. What would be the synonym for the word educe ?

(A) demand (B) elicit

(C) ideal (D) unlawful
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Read the following passage and answer the questions (132-135) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long

prehensile tongue.

The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland

in north-eastern Central Africa, surrounded by savanna.

One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual

rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.
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132. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :

(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C) They communicate with other bordering creatures

(D) None of the above

133. Okapis stay within the forest interior. The passage relates this to the of the Okapi.
(A) scarcity (B) mind
(€) culture (D) size
134. The word hide in the first paragraph means :
(A) smell (B) evade
(C) skin (D) land
135. The function of the third paragraph is to :

(A) pose a question about Okapi behaviour
(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare

(D) explain why Okapis appeared to be rare
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Change the following (136 & 137) into passive voice.

136. No one can do anything unless someone gives us more information.
(A) Nothing can be done without giving information.
(B) Nothing can be done unless we are given more information.
(C) Nothing can be done unless someone gives more information.

(D) Nothing can be done without information.

137. Previous climbers had cut steps in the ice.
(A) Steps had been cut in the ice (B) Steps were cut in the ice

(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers

138. Which of these words is closest in meaning to the word kin ?

(A) exult (B) twist (C) friend (D) relative

139. Which word from the following is similar to beckon ?

(A) light (B) Dbeg (C) motion (D) hear

Read the following sentences (140 & 141) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

140. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere
employees.

(A) intelligent (B) naive (C) dishonest (D) critical

141. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.

(A) obsolete (B) meagre (C) spacious (D) costly
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Read the following passage and answer the questions (142-145) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet

against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although

Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipede, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipede
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,
mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden
mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.]. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,
and enjoyed all over the world.

142. Macmillan added iron rims to the tyres of his bicycle to :
(A) add weight to the bicycle (B) make the tyres last longer

(C) make the ride less bumpy (D) make the ride less tiring
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143. Which of the following statements from the passage represents the writer’s opinion ?
(A) The safety bicycle would look familiar to today’s cyclists.
(B) Two hundred years ago, bicycles didn’t even exist.
(C) The Michaux brothers called their bicycle a vélocipede.

(D) Macmillan’s machine had tyres with iron rims.

144. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan

(C) Pierre Michaux (D) James Starley

145. Read the following sentence from the fourth paragraph :

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.

As it is used in the sentence, the underlined word revolutionized means :

(A) cancelled (B) changed drastically
(C) became outdated (D) exercised control over
146. This application was written a pen.
(A) by (B) with (C) off (D) nib

147. Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.

SHELF : BOOKCASE

(A) arm:leg (B) stage :curtain (C) bench:chair (D) key: piano
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148. Choose the correct pair to fill up the blanks :

He put some on the hinge, so that it should not
(A) oil, squeak (B) water, spill (C) colour, stand (D) paper, seat
149. Everyone admired his courage.
(A) at (B) of (C) for (D) no word required

150. Read the following passage and answer the question that follows :

Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution
degrades the quality of the environment. Where it was once possible to look up at the night sky
and see thousands of twinkling stars in the inky blackness, one now sees little more than the
yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of
the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.

The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness
(C) cultural advancement (D) questing spirit
-00o0-
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